i@

RHD Hi[5)fF

EO 24°$/EO 24°%f
S2 S1
S3
)
. i |
E _| | Z| 0 21 el .
@L [ D¢ Q | ‘
O\ L] ) of
L3 \ 8
1
L2
L1
D1 TAEEA (bar)
CF 71 CF 71 CF 71 =
X st DN DN L1 L1 L2 L3 S1 S2 S2 S3 e/t iT5RS CF 71
L 06 3.5 3.5 43.0 | 43.0 | 29.0 58.0 17 17 17 14 46 RHDO6LOMD | 400 250
08 55 55 440 | 44,9 | 30.0 59.0 19 19 19 17 61 RHDOSLOMD | 400 250
10 7.5 7.5 55.0 | 54.5| 40.5 69.5 | 22 24 24 19 104 RHD10LOMD | 400 250
12 9.5 9.5 58.0 | 57.5| 43.5 725 | 27 30 30 22 166 RHD12LOMD | 400 250
15 11.0 | 11.5 62.0 | 615 | 475 775 | 27 32 32 27 192 RHD15LOMD | 400 250
18 14.0 | 14.0 67.0| 66.5| 51.5 835 | 36 41 36 32 292 RHD18LOMD | 400 160
22 18.0 | 18.0 770 | 76.5| 61.5 935 | 41 46 46 36 472 RHD22LOMD | 250 160
28 23.0 | 23.0 85.0 | 84.5| 69.5 | 1025 | 50 55 55 41 746 RHD28LOMD | 250 100
35 29.0 | 29.0 96.0 | 955 | 745 | 1175 | 60 65 60 50 1062 RHD35LOMD | 250 100
42 29.0 | 29.0 96.0 | 96.0 | 74.0 | 119.0 65 70 70 60 1518 RHD42LOMD | 250 100
s 06 35| 35| 485| 485|345 | 635| 19 | 19 | 19 17 70 | RHDO6SOMD | 420 | 400
08 35| 35| 485| 485|345 | 635| 19 | 19 | 19 19 74 | RHDO8SOMD | 420 | 400
10 5.5 5.5 555 | 555 | 40.5 725 | 22 24 24 22 121 RHD10SOMD | 420 400
12 7.5 7.5 575 | 575 | 425 745 | 24 27 27 24 148 RHD12SOMD | 420 400
14 9.5 9.5 64.0 | 63.5| 47.5 825 | 27 32 32 27 218 RHD14SOMD | 420 315
16 11.0 | 11.5 68.0 | 67.5| 50.5 86.5 | 32 36 36 30 286 RHD16SOMD | 420 315
20 15.0 | 15.0 76.0 | 75.5| 54.5 975 | 4 50 46 36 506 RHD20SOMD | 420 250
25 19.0 | 19.0 83.0 | 825 | 585 |106.5| 46 55 50 46 639 RHD25SOMD | 420 250
30 240 | 24.0 97.0| 96.5| 69.5 | 1225 | 60 60 60 50 1157 RHD30SOMD | 250 250
38 29.0 | 29.0 | 108.0 | 107.5| 755 | 136.5 | 65 70 70 60 1650 RHD38SOMD | 250 250
RERFHFEBRFE, CRRTRANEHMEHTESSRD6R
VES
(7L REALIE A5l FREEE R
R
. B4,
?ﬁtﬁg% TR s CF RHDO6LOMDCF NBR
M*il-fﬁ;\ﬂﬂlﬁgﬁo TEF 71 RHDO06LOMD71 VIT
J12 FEntEAR 4100/CH




i

RHV-R-ED H[EiE FEHIIMES-EDFEE
EO 24°4k/5 & PHIZ 45 BSPP-ED % (1SO1179)

S2 S1

D1
—
f
%
<
DN
T
D3
%]
|
]
]

L4
X1)
L2 L3

X1) EDZ %1 L1

D1 [TAEE A (bar)
CF | 71 CF | 71 CF | 71 g

Ry | T1 DN [DN [ D3 | L1 | L1 | L2 | L3 | L4 | S1 |S2 | S2 | S3 | s=5/# s, CF | 71
L 06 | G1/8A | 35| 35| 14 (350 (35.0(28.0| 8 |425| 17 | 17 | 17 | 14 47 | RHVOSLREDOMD | 400 | 250
08 | G1/4A | 55| 55| 19 [37.0 |37.0(30.0| 12 | 445 19 | 19 | 19 | 17 62 | RHVOSLREDOMD | 400 | 250

10 | G1/4A | 75| 75| 19 |46.0 |455|38.5| 12 | 53.0| 22 | 24 | 24 | 19 | 105 | RHVIOLREDOMD| 400 | 250
12 | G3/8A | 95| 95| 22 |50.0 |49.5 [425| 12 | 57.0| 27 | 30 | 30 | 22 | 175 | RHVA2LREDOMD| 400 | 250
15 | G1/2A | 11,0 | 115 | 27 |53.0 |52.5 |455| 14 | 60.5| 27 | 32 | 32 | 27 | 205 | RHVASLREDOMD| 400 | 250
18 | G1/2A |14.0 [14.0 | 27 |58.0 |57.5[50.0| 14 | 66.0| 36 | 41 | 36 | 32 | 294 | RHVISLREDOMD| 400 | 160
22 | G3/4A [18.0 [18.0 | 32 |63.0 |62.5 [55.0| 16 | 71.0| 41 | 46 | 46 | 36 | 450 | RHV22LREDOMD| 250 | 160
28 | G1A [23.0(23.0| 40 |71.0 [70.5|63.0| 18 | 79.5| 50 | 55 | 55 | 41 | 720 | RHV28LREDOMD| 250 | 100
35 |G11/4A[29.0 |29.0 | 50 [80.0 [79.5|69.0| 20 | 90.5| 60 | 65 | 60 | 50 | 1050 | RHV35LREDOMD| 250 | 100
42 |G11/2A[29.0 |29.0 | 55 |80.0 [79.5|68.5| 22 | 91.0| 65 | 70 | 70 | 60 | 1560 | RHV42LREDOMD| 250 | 100
s |06 |G14A| 35| 35| 19 [38.5(385(315] 12 |46.0| 19 | 19 | 19 | 17 73 | RHVOGSREDOMD| 420 | 400
08 | G1/4A | 35| 35| 19 |385 (385 (31.5| 12 | 46.0| 19 | 19 | 19 | 19 79 | RHV08SREDOMD| 420 | 400
10 | G3/8A | 55| 55| 22 |455 (455 (38.0| 12 | 54.0| 22 | 24 | 24 | 22 | 132 | RHV10SREDOMD| 420 | 400
12 | G3/8A | 75| 75| 22 485|485 |41.0| 12 | 57.0| 24 | 27 | 27 | 24 | 153 | RHV12SREDOMD| 420 | 400
14 | G12A | 95| 95| 27 |53.0 |52.5 |445| 14 | 62.0| 27 | 32 | 32 | 27 | 230 | RHV14SREDOMD| 420 | 315
16 | G1/2A |11.0 [115 | 27 |57.0|56.5 [48.0| 14 |66.0] 32 | 36 | 36 | 30 | 293 | RHVI6SREDOMD| 420 | 315
20 | G3/4A [15.0 [15.0 | 32 |63.0 [62.5|52.0| 16 | 73.5| 41 | 50 | 46 | 36 | 511 | RHV20SREDOMD| 420 | 250
25 | G1A [19.019.0| 40 - |66.5|54.5| 18 | 785| 46 | 55 | 50 | 46 | 648 | RHV25SREDOMD| 420 | 250
30 |G11/4A[24.0 |24.0 | 50 |78.0 |77.5|64.0| 20 | 90.5| 60 | 60 | 60 | 50 | 1176 | RHV30SREDOMD| 250 | 250
38 |G11/2A[29.0 [29.0 | 55 |86.0 [85.5|69.5| 22 [100.0| 65 | 70 | 70 | 60 | 1624 | RHV38SREDOMD| 250 | 250

RERTHFEBRFE, ERRFRANEHHEITHESSID6R

iTRSESR
7l EpSid w5l FROEEE R
Rt
. W,
%éﬁ?ﬁ TN CF RHVOBLREDOMDCF | NBR
3 M AR
MRS, THR 71 RHVOBLREDOMD71 | VIT

m J13 Pt 4100/CH



.

RHZ-R-ED H[EfE HKFIIEL - EDFE$
Z | PRIZ A BSPP-EDZ £f(1SO1179)/EO 24°4

S2 S1
S —
—h A [a]
/ Q
Bl-lz L <= | ] ba) ~
8" DL GL E
L4
X1)
L3 L2
X1) EDE$1 [ L1
D1 [TAEE A (bar)
CF | 71 CF | 71 CF | 71 g
&3 | ¥ T1 DN |DN | D3 [ L1 | L1 | L2 | L3 | L4 | S1 | S2 | S2 | S3 | %/t s, CF | 7
L 06 | G1/8A | 35| 35| 14 [335 —|265| 8 [41.0| 17 | 17 | 17 | 14 44 | RHZ0O6LREDOMD | 400 | 250
08 | G1/4A | 55| 55| 19 [355 —|285| 12 | 43.0| 19 | 19 | 19 | 17 59 | RHZOSLREDOMD | 400 | 250
10 | G14A| 75| 75| 19 |46,0 —1385| 12 |53.0| 22 | 24 | 24 | 19 125 | RHZ10LREDOMD | 400 | 250
12 | G3/8A | 95| 95| 22 (48,0 - 1405 12 | 550 27 | 30 | 30 | 22 161 | RHZ12LREDOMD | 400 | 250
15 | G1/2A |11,0 [11.5| 27 |50,0 —|425| 14 | 575| 27 | 32 | 32 | 27 186 | RHZ15LREDOMD | 400 | 250
18 | G1/2A |14.0 [14.0 | 27 |56,0 —|48.0| 14 | 64.0| 36 | 41 | 36 | 32 275 | RHZ18LREDOMD | 400 | 160
22 | G3/4A [18.0 |[18.0 | 32 [64,0 - |56.0] 16 | 72.0| 41 | 46 | 46 | 36 463 | RHZ22LREDOMD | 250 | 160
28 | G1A [23.0|23.0| 40 [72,0 - |64.0| 18 | 80.5| 50 | 55 | 55 | 41 721 | RHZ28LREDOMD | 250 | 100
35 |G11/4A[29.0 |29.0 | 50 [81,0 —|70.0| 20 | 91.5| 60 | 65 | 60 | 50 | 1073 | RHZ35LREDOMD | 250 | 100
42 |G 11/2A[29.0 [29.0 | 55 |82,0 —|705| 22 |93.0| 65 | 70 | 70 | 60 | 1602 | RHZ42LREDOMD | 250 | 100
S 06 | G1/4A | 35| 35| 19 [385 —[315] 12 |46.0| 19 | 19 | 19 | 17 71 | RHZO6SREDOMD | 420 | 400
08 | G1/4A | 35| 35| 19 [385 - |315| 12 | 46.0| 19 | 19 | 19 | 19 74 | RHZOS8SREDOMD | 420 | 400
10 | G3/8A | 55| 55| 22 |455 —|38.0| 12 | 54.0| 22 | 24 | 24 | 22 128 | RHZ10SREDOMD | 420 | 400
12 | G3/8A | 75| 75| 22 |485 —1410] 12 |57.0| 24 | 27 | 27 | 24 152 | RHZ12SREDOMD | 420 | 400
14 | G1/2A | 95| 95| 27 |52,0 —|435| 14 |61.0| 27 | 32 | 32 | 27 223 | RHZ14SREDOMD | 420 | 315
16 | G1/2A |11.0 [11.5| 27 |55,0 —|46.0| 14 | 64.0| 32 | 36 | 36 | 30 275 | RHZ16SREDOMD | 420 | 315
20 | G3/4A |15.0 |15.0 | 32 [61,0 - |50.0| 16 | 71.5| 41 | 50 | 46 | 36 490 | RHZ20SREDOMD | 420 | 250
25 | G1A [19.0 [19.0 | 40 [67,0 - |545| 18 | 785 50 | 55 | 50 | 46 647 | RHZ25SREDOMD | 420 | 250
30 |G11/4A|24.0 |24.0 | 50 [78,0 —|64.0| 20 | 90.5| 55 | 60 | 60 | 50 | 1180 | RHZ30SREDOMD | 250 | 250
38 |G11/2A[29.0 |29.0 | 55 [88,0 —|715| 22 [102.0| 65 | 70 | 70 | 60 | 1670 | RHZ38SREDOMD | 250 | 250
RHHFHEBRKE, BRRTENESHEHT RSB ADR
THERE
L) REALE = FRETEMR
Rewbht
. AR,
HRIRGE ﬁf‘—ﬁ\]mfiﬁifﬁii CF RHZOBLREDOMDCF | NBR
Mﬂﬁﬁ%g& TN 71 RHZ06LREDOMD71 VIT

m J14 PERHEA 4100/CH



i

RHV-M-ED H[OiE A#lEEL-EDE
EO 24°4// #I| PHIZ4-ED %5 $1(1S0997)

S2 S1

D1
—
f
%
<
DN
T
D3
%]
|
]
]

L4
X1)
L2 L3

X1) EDZ$1 [ L1
D1 [TAEE A (bar)
@ CF | 71 CF | 71 CF | 71 2

&y | ¥ T1 DN [DN [ D3 | L1 | L1 | L2 | L3 | L4 | S1 |S2 | S2 | S3 | s=5/# s, CF | 71

L 06 | M10x1 | 35| 35| 14 [35.0 - 1280 8 |425| 17 | 17 | 17 | 14 46 | RHVOSLMEDOMD| 400 | 250
08 [M12x15| 55| 55| 17 [36.0 —129.0| 12 | 435 19 | 19 | 19 | 17 58 | RHVOSLMEDOMD| 400 | 250
10 |M14x15| 75| 75| 19 |455 —1385| 12 |53.0] 22 | 24 | 34 | 19 108 | RHV10LMEDOMD| 400 | 250
12 |M16x1.5| 95| 95| 22 |495 —|425] 12 |57.0| 27 | 30 | 30 | 22 173 | RHV12LMEDOMD| 400 | 250
15 |M18x1.5|11,0 [11.5 | 24 |525 —|455| 12 | 605| 27 | 32 | 32 | 27 192 | RHV15LMEDOMD| 400 | 250
18 |M22x1.5/14.0 [14.0 | 27 |56.0 - 150.0| 14 |66.0] 36 | 41 | 36 | 32 298 | RHV18LMEDOMD| 400 | 160
22 [M26x1.5[18.0 [18.0 | 32 [64.0 —|55.0] 16 | 71.0| 41 | 46 | 46 | 36 446 | RHV22LMEDOMD| 250 | 160
28 | M33x2 [23.0 [23.0 | 40 [72.0 - 163.0] 18 | 79.5| 50 | 55 | 55 | 41 722 | RHV28LMEDOMD| 250 | 100
35 | M42x2 [29.0 [29.0 | 50 [81.0 —169.0] 20 |905| 60 | 65 | 60 | 50 | 1053 | RHV35LMEDOMD| 250 | 100
42 | M48x2 [29.0 [29.0 | 55 |82.0 —|685| 22 | 91.0| 65 | 70 | 70 | 60 | 1563 | RHV42LMEDOMD| 250 | 100

S 06 |M12x15| 35| 35| 17 [385 —315] 12 |46.0] 19 | 19 | 19 | 17 70 | RHVO6SMEDOMD)| 420 | 400
08 [M14x15| 35| 35| 19 [385 —(315] 12 |46.0] 19 | 19 | 19 | 19 76 | RHVOSSMEDOMD| 420 | 400
10 |M16x1.5| 55| 55| 22 |455 — 1380 12 |54.0| 22 | 24 | 24 | 22 124 | RHV10SMEDOMD| 420 | 400
12 |M18x1.5| 75| 7.5 | 24 |485 —141.0] 12 |57.0| 24 | 27 | 27 | 24 157 | RHV12SMEDOMD| 420 | 400
14 |M20x1.5| 95| 95| 26 |525 —|445| 14 |62.0| 27 | 32 | 32 | 27 215 | RHV14SMEDOMD| 420 | 315
16 |M22x1.5/11.0 [11.5 | 27 |55.0 —148.0| 14 |66.0] 32 | 36 | 36 | 30 296 | RHV16SMEDOMD| 420 | 315
20 | M27x2 [15.0 |[15.0 | 32 [61.0 —|52.0| 16 | 735| 41 | 50 | 46 | 36 521 | RHV20SMEDOMD| 420 | 250
25 | M33x2 [19.0 [19.0 | 40 [67.0 —|545| 18 | 785| 46 | 55 | 50 | 46 648 | RHV25SMEDOMD| 420 | 250
30 | M42x2 [24.0 |24.0| 50 [78.0 —|64.0] 20 |90.5| 60 | 60 | 60 | 50 | 1178 | RHV30SMEDOMD| 250 | 250
38 | M48x2 [29.0 [29.0 | 55 [88.0 - 169.5| 22 [100.0| 65 | 70 | 70 | 60 | 1627 | RHV38SMEDOMD| 250 | 250

EHREATHRBRKFE, SRR TANEHHEHTHSSAD6R

TEEER
Rt FEALIE = FREZE R
Rt
. B,
*ﬁmﬁ ﬁ/ﬁ\]m%ﬁifﬁii CF RHVOSLMEDOMDCF | NBR
MH?%%%& TN 71 RHV06LMEDOMD71 VIT

m J15 Pt 4100/CH



"

RHZ-M-ED i[O HHIIEL-EDE
NI IMEL-EDE £ (1SO997)/EO 24°%

S2 S1
S —
— A o
/ )
8-~z <= |_ ] a _
Q QO Q
L4
X1)
L3 L2
X1) EDZ £ L1
D1 T1EEA (ar)
g
EX ] @ T1 DN | D3 | L1 L2 | L3 | L4 | S1 | S2 | s3 =/ s, CF 71
L 06 | M 10x1 35| 14 335|265 | 8 | 41.0 17 | 17 | 14 44 RHZ06LMEDOMD | 400 | 250
08 |M12x15| 55| 17 | 355|285 | 12 | 43.0| 19 | 19 | 17 58 RHZ0SLMEDOMD | 400 | 250
10 |M14x1.5| 75| 19 455 (385 | 12 | 53.0| 22 | 24 | 19 104 RHZ10LMEDOMD | 400 | 250
12 |M16x15| 95| 22 | 475|405 | 12 | 550| 27 | 30 | 22 169 RHZ12LMEDOMD | 400 | 250
15 |M18x15 | 115 | 24 | 495|425 | 12 | 575| 27 | 32 | 27 174 RHZ15LMEDOMD | 400 | 250
18 | M22x15 | 140 | 27 | 555 |48.0 | 14 | 64.0| 36 | 41 32 279 RHZ18LMEDOMD | 400 | 160
22 |M26x1.5|18.0 | 32 |635 (560 | 16 | 720| 41 | 46 | 36 459 RHZ22LMEDOMD | 250 | 160
28 | M33x2 | 230 | 40 |715|640| 18 | 80.5| 50 | 55 | 41 721 RHZ28LMEDOMD | 250 | 100

35 M42x2 | 29.0 | 50 | 80.5 | 70.0 | 20 91.5| 60 65 50 1078 RHZ35LMEDOMD | 250 100
42 M48x2 | 29.0 | 55 | 815|705 | 22 93.0| 65 70 60 1601 RHZ42LMEDOMD | 250 100

S 06 |M12x1.5| 35| 17 | 385|315 | 12 46.0( 19 19 17 70 RHZ06SMEDOMD | 420 | 400
08 |M14x15| 35| 19 |385 |315| 12 46.0| 19 19 19 75 RHZ08SMEDOMD | 420 | 400
10 |M16x1.5| 55| 22 | 455 |38.0 | 12 54.0| 22 24 22 123 RHZ10SMEDOMD | 420 | 400
12 |M18x15| 75| 24 | 485|410 | 12 57.0| 24 27 24 157 RHZ12SMEDOMD | 420 | 400

14 |M20x1.5| 95| 26 | 515|435 | 14 61.0| 27 32 27 214 RHZ14SMEDOMD | 420 315

16 | M22x15 | 115 | 27 | 545 | 46.0 | 14 64.0| 32 36 30 279 RHZ16SMEDOMD | 420 315
20 M27x2 | 15.0 | 32 | 60.5 | 50.0 | 16 71.5| 41 50 36 487 RHZ20SMEDOMD | 420 | 250
25 M33x2 |19.0 | 40 |[68.0|545 | 18 78.5| 46 55 46 647 RHZ25SMEDOMD | 420 | 250
30 M42x2 | 240 | 50 |77.5|64.0 | 20 90.5| 60 60 50 1180 RHZ30SMEDOMD | 250 | 250
38 M48x2 | 29.0 | 55 | 875|715 | 22 |102.0| 65 70 60 1669 RHZ38SMEDOMD | 250 | 250

REMNTHFEBRFE, ERETRNEHHHITESS DR

TEERE
T FELE Wl TEBER
RATR
. B,
?ﬁtzg? %Af_\ffl\%ﬁffgﬁt CF RHZ06LMEDOMDCF NBR
HEEMER. TN 71 RHZ06LMEDOMD71 VIT

m J16 Pt 4100/CH



i

RHDI E[@iE AR
BSPP #2457 (ISO1179-1)/BSPP A#Z4 (1ISO1179-1)

L1
S2 S1
y
|~ < Z|l - =
g,_,i, . - 7—70i|—8
L3 ~1 s
L2
TAEEF (bar)
=

£ T1 DN D1 L1 L2 L3 S1 S2 5/ iTHS CF 71
L G11/18 35 19 425 12.0 8.0 19 19 76 RHDI1/8 400 400
G1/4 35 19 51.0 16.0 12.0 19 19 82 RHDI1/4 400 400
G 3/8 75 24 60.0 17.0 12.0 24 27 157 RHDI3/8 400 400
G112 11.5 32 72.0 20.0 15.0 32 36 344 RHDI1/2 315 315
G 3/4 15.0 41 84.0 22.0 16.5 41 46 664 RHDI3/4 250 250
G1 19.0 46 95.0 255 19.0 46 50 821 RHDI1 250 250
G 11/4 24.0 60 110.0 28.0 21.5 60 60 1581 RHDI11/4 250 250
G 11/2 29.0 65 114.0 28.5 22.0 65 70 1919 RHDI11/2 250 250

RRHTHFIERRFE, BREFRNEHHEITHS S ID6R

IT%FI?REE
L) REALIE = FRETEMR
Rtk
. B,
?E’fﬁg’g FAMiEs CF RHDI1/8CF NBR
HEEMER. TN 71 RHDI1/871 VIT

m J17 FEEmAEAR 4100/CH



"

RVP §%%3X & [a) 3

L1
o - = - -
- - - _ la) ol Z|_ 1l - - iyl
8 S DL S
1.6/
, 1) x2)| \x3)
X1) 3447 PTFE Lo s
X2) OE[E NBR
X3) % B NBR
TAEEH (bar)
i L1 8
ITL DN D1 D2 £015 | L2 L3 | OZE XIEH s/ TS CF | ™M
6-L/688-S| 3.5 [12.945 20085 | 131002 [23.15| 9.5 | 6.0 |8.3x2.4 | SRA13-2.05-1.0| 21 RVP13 | 420 | 400
8-LM0-S | 55 [15.945+0055 | 16 1002 | 2665 | 95 | 6.5 |11.3x2.4 | SRA16-2.05-1.0| 32 RVP16 | 420 | 400
10-L/12-S| 7.5 |19.935:0065 | 20 jopes|30.15 | 95 | 65 |15.3x2.4 | SRA20-2.05-1.0| 54 RVP20 | 420 | 400
12-L114-S| 9.5 |23.935£0065 | 24 1o 0ea|35.15 | 120 | 7.5 | 18.2x3 | SRA24-26-1.0| 80 RVP24 | 420 | 315
15-L/16-S| 11.5 | 26.935 £0.065 | 27 1o paa | 38.15 [ 120 | 7.5 | 21.2x3 | SRA27-2.6-1.0| 105 RVP27 | 420 | 315
18-L/20-S| 15.0 | 34.92 008 | 355005 |44.65 | 120 | 95 | 20.2x3 | SRA35-25-1.0| 204 RVP35 | 420 | 250
22-L/25-S| 19.0 | 39.92 +008 | 40 1005 |50.65 | 120 | 11.0 | 34.2x3 | SRA40-25-1.0 | 275 RVP40 | 420 | 250
28-L/30-S| 24.0 | 46.92 008 | 47 ;005 |60.15 | 13.0 | 13.0 | 41.2x3 | SRA47-26-15| 412 RVP47 | 250 | 250
35-L/38-S| 29.0 |54.905 +0.095 | 55 1052 [70.15 | 16.0 | 13.0 |44.2x5.7 | SRA555.1-1.5 | 607 RVP55 | 250 | 250
IT%FI?REE
wH FELE |20 FRBEFR
Rphy
‘ W,
HERIE | Fxchmm CF RHP13CF NBR
REMIER TEEN 71 RHP1371 VIT
PR

m J18 Pt 4100/CH



